The Concurrency Theorem:

Given:- In AABC, D, E and F are base points on sides BC, AC and AB

respectively such that AD, BE and CF (Cevians) are concurrent at O. FE and AD
intersect at G; FD and BE at H; and DE and CF at I.

To prove:
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Proof :

For A AOC, EGF is a transversal cutting the sides AC, AO and CO at E, G and

F respectively.



.. as per Menelaus Theorem,
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For A AOE, CDB is a transversal cutting its sides AE, AO & OE at C, D and B

respectively.




". As per Menelaus Theorem,
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For A COE, BFA is a transversal cutting its sides EO, CO and CE at B, F & A
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respectively.
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Similarly,

We can prove
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- ‘CONCURRENCY THEOREM'’ proved.




